Study Guide Final Exam: Last Part
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 In the diagram below, AABC ~ ADEF.

A B c D F

IfAB =6 and AC = 8, which statement will justify similarity by SAS?
(1) DE = 9, DF = 12, and £A = 2D
(2) DE =8 DF = 10, and £A = 2D
(3) DE = 36, DF = 64, and £C = £F
(4) DE =15, DF = 20, and £C = LF
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In the diagram of right triangle ABC shown below, AB = 14 and
AC =9,

c B

What is the measure of ZA, to the nearest degree?
(1) 33 3) 50
(2) 40 () 57
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A carpenter leans an extension ladder against a house to reach the bottom of a window 30 feet
above the ground. As shown in the diagram below, the ladder makes a 70° angle with the ground.
“To the nearest foot, determine and state the length of the ladder.

30 ft
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Given AABC = ADEF, which statement is not always true?

(3) area of AABC = area of ADEF
(4) perimeter of AABC = perimeter of ADEF
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Under which transformation would AA’B'C’, the image of AABC, not
be congruent to AABC?

(1) reflection over the y-axis

(2) rotation of 90° clockwise about the origin

(3) translation of 3 units right and 2 units down

(4) dilation with a scale factor of 2 centered at the origin
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| In the diagram below, DE, DF, and EF are midsegments of AABC.
B8

A F C

The perimeter of quadrilateral ADEF is equivalent to
(1) AB + BC + AC (3) 24B + 24C

@ %AB + %AC (4) AB + AC
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The diagram below shows two similar triangles.

24

Iftan 6 = 2 what s the value of x, to the nearest tenth?
m 12 (3) 76
@ 56 (4) 88
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Identify which sequen

f transformations could map pentagon

ABCDE onto pentagon A"B'C'D'E", as shown below.
c
B D
Al E
A =
-4 D"
<

(1) dilation followed by a rotation

(2) translation followed by a rotation

(3) line reflection followed by a translation

(4) line reflection followed by a line reflection
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- Given the right triangle in the diagram below, what is the value of x,
to the nearest foot?

14t

SV (3) 18
@) 17 (4) 22
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 On the graph below, point A(3,4) and BC with coordinates B(4,3)
and C(2.1) are graphed.

What are the coordinates of B’ and C” after BC undergoes a dilation
centered at point A with a scale factor of 27

(1) B'62and C(1,-2)  (3) B'(5.0) and €'(1,—2)

(@) B'(6.1)and C(0,~1)  (4) B'(5.2) and C'(3,0)
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- In the diagram of right triangle ADE below, BC || DE.

D

A C E

Which ratio is always equivalent to the sine of £A?

AD BC
w 4 © 5
@ 4E () 48

D

N
]
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A parallelogram is always a rectangle it
(1) the diagonals are congruent

(2) the diagonals bisect each other
(3) the diagonals intersect at right ang
(4) the opposite angles are congruent
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Which rotation about its center will carry a regular decagon onto
itself?

(1) 54° (3) 198°
(2) 162° (4) 252°
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The graph below shows AABC and its image, AA"B’

Describe a sequence of rigid motions which would map AABC onto AAB'C”.




image20.png
When instructed to find the length of HJ in right triangle HJG, Alex wrote the equation

n 26° = 2 while Marlene wrote cos 62° = 5L Are both students” equations correct?

Explain why:

28°
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 In the diagram below, GI is parallel to NT, and IN intersects GT at A.

Prove: AGIA ~ ATNA




image22.png
Tiwo right triangles must be congruent if
(1) an acute angle in each triangle is congruent
(2) the lengths of the hypotenuses are equal
(3) the corresponding legs are congruent

(4) the areas are equal
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Using the information given below, which set of triangles can not be
proven similar?

A R o s K
¢ G, 2
12 s - ) |
s
B 5 C !
®) !

m

D Y
A /
L-
E N K s
) )

c
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In parallelogram ABCD, diagonals AC and BD intersect at E. Which
statement does not prove parallelogram ABCD is a rhombus?

(1) AC=DB

(2) AB=BC

(3) AC LDB

(4) AC bisects LDCB.
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 Which sequence of transformations will map AABC onto AA'B'C’?

y

(1) reflection and translation
(2) rotation and reflection
(3) translation and dilation
(4) dilation and rotation
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On the set of axes below, rectangle ABCD can be proven congruent
to rectangle KLMN using which transformation?

y

(1) rotation
(2) translation
(3) reflection over the x-axis

(4) reflection over the y-axis
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Line segment EA is the perpendicular bisector of ZT, and ZE and
TE are drawn.

z A T

Which conclusion can not be proven?
(1) EA bisects angle ZET.

(2) Triangle EZT is equilateral.

(3) EA is a median of triangle EZT.
(4) Angle Z is congruent to angle T




image28.png
Describe a sequence of transformations that will map AABC onto ADEF as shown below.

y
b

>x
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In ACED as shown below, points A and B are located on sides CE and ED, respectively. Line
segment AB is drawn such that AE = 3.75, AC = 5, EB = 4.5, and BD = 6.

Explain why AB is parallel to CD.
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Find the value of R that will make the equation sin 73° = cos R true when 0° < R < 90°.
Explain your answer.
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A ladder leans against a building. The top of the ladder touches the building 10 feet above the
ground. The foot of the ladder is 4 feet from the building, Find, to the nearest degree, the angle
that the ladder makes with the level ground.
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Which transformation would not always produce an image that
would be congruent to the original figurc?

(1) translation (3) rotation

(2) dilation (4) reflection
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In AABC, where £C is a right angle, L“SA-‘/?AVVhslis sin B?

o 21 © 2
5

@ Va1
2

(4) N
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Which point shown in the graph below is the image of point P after
a counterclockwise rotation of 90° about the origin?

(1) A ®)c
2) B (4) D
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Quadrilateral ABCD with diagonals AC and BD is shown in the
diagram below.

A D

Which information i not enongh to prove ABCD s  parallelogram?

€D and BC || 3D
(4) AB|| DC and BC || AD
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Segment CD is the perpendicular bisector of AB at E. Which pair of
segments does not have to be congruent?

(1) AD,BD (3) AE,BE
(2) AC.BC (4) DE,CE
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In the diagram below, AABC has coordinates A(1,1), B(4,1), and C(4.5). Graph and labe
AA'B'C”, the image of AABC after the translation five units to the right and two units uj
followed by the reflection over the line y = 0.

<
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Aregular hexagon is rotated in a counterclockwise direction about its center. Determine and state
the minimum number of degrees in the rotation such that the hexagon will coincide with itsel.
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The degree measure of an angle in a right triangle is x, and sin x

Which of these expressions are also equal to %?

Select all that apply.

® cos(x)

cos(x - 45°)
© cos(45° - x)
©® cos(60° - x)
® cos(90° - x)

ol
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In the diagram below, a window of a house is 15 feet above the ground. A ladder is placed against
the house with its base at an angle of 75° with the ground. Determine and state the length of the
Idder to the nearest tenth of a foot.
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In this figure, triangle GHJ is similar to triangle PQR.

P 17 )

H G
Based on this information, which ratio represents tan H?

®

Gl

®

Qe

|5
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Mariela is standing in a building and looking out of a window at a tree. The
tree is 20 feet away from Mariela. Mariela’s line of sight to the top of the tree
creates a 42° angle of elevation, and her line of sight to the base of the tree
creates a 31° angle of depression.

What is the height, in feet, of the tree?

Enter your answer in the box.
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The figure shows AABC ~ aDEF with side lengths as indicated.

F

A

What is the value of x?

Enter your answer in the box.
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In this figure, triangle GHJ is similar to triangle PQR.

P 17 0

H

Based on this information, which ratio represents tanH ?

B. £
D. 17
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Consider the partial construction of a line parallel to r through point Q. What
would be the final step in the construction?

A. draw a line through P and S
B. draw a line through Q and S
C. draw a line through Tand S
D.

. draw a line through W and S




image1.png
Which transformation would result in the perimeter of a triangle
being different from the perimeter of ts image?

M) (y) = x) ©) (vy) — (4x.4y)
@) (xy) = (x.—y) ) () = (x+2y —5)
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. The figure shows two perpendicular lines, s and r, intersecting at point P in
the interior of a trapezoid. Line r is parallel to the bases and bisects both legs
of the trapezoid. Line s bisects both bases of the trapezoid.

s

A

A\

Which transformation will always carry the figure onto itself?
Select all that apply.

A. a reflection across line r

B. a reflection across line s

C. a rotation of 90° clockwise about point P

D. a rotation of 180° clockwise about point P

E. a rotation of 270° clockwise about point P
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Use the information provided to answer Part A and Part B for question 17.

A spring is attached at one end to support B and at the other end to collar 4, as
represented in the figure. Collar A slides along the vertical bar between points C
and D. In the figure, the angle 6 is the angle created as the collar moves between
points C and D.

fe——3 ft —
B~

17. PartA

When 6 = 28°, what is the distance from point A to point B to the
nearest tenth of a foot?

Enter your answer in the box.

Part B
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When the spring is stretched and the distance from point A to point B is
5.2 feet, what is the value of 6 to the nearest tenth of a degree?

A. 352°
B. 45.1°
C. 54.8°

D. 60.0°
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Triangle ABC is shown in the xy-coordinate plane.

The triangle will be rotated 180° clockwise around the point (3, 4) to create
AAB'C'. Which characteristics of AAB’C’ will be the same for the
corresponding characteristics of AABC?

Select all that apply.

A. the coordinates of A’
B. the coordinates of B

C. the perimeter of AAB'C’
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D. the area of AA’B'C’
E. the measure of ZB’

F. the length of segment A'B’
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A c

In right triangle ABC, mB # m.C. Let sinB = r and cosB = s. What is
sinC — cosC ?

A. r+s
B. r-s
C. s

@~
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Line segment AB with endpoints A(4,16) and B(20, 4) lies in the coordinate

plane. The segment will be dilated with a scale factor of 3 and a center at

the origin to create A’

A. 15

. What will be the length of A’l

B. 12
C. 5
D. 4
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Triangle ABC and triangle DEF are graphed on the set of axes below.

Which sequence of transformations maps triangle ABC onto

triangle DEF?

(1) a reflection over the x-axis followed by a reflection over the
yraxis

(2) a 150° rotation about the origin followed by a reflection over the
liney =x

(3) a90° clockwise rotation about the origin followed by a reflection
over the y-axis

(4) a translation § units to the right and 1 unit up followed by a
90° counterclockwise rotation about the origin
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In AABC, the complement of £B is LA. Which statement is always
tru?

(1) tan £A = tan LB (3) cos LA = tan LB
(2) sin LA =sin LB (4) sin LA = cos LB
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 Aline that passes through the points whose coordinates are (1,1) and
(5.7) is dilated by a scale factor of 3 and centered at the origin.
The image of the line
(1) is perpendicular to the original line
(2) is parallel to the original line
(3) passes through the origin
(4) is the original line
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Quadrilateral ABCD is graphed on the set of axes below.

y

When ABCD is rotated 90° in a counterclockwise direction about
the origin, its image is quadrilateral A’B'C’D". Is distance preserved
under this rotation, and which coordinates are correct for the given
vertex?

(1) noand C(1.2) (3) yes and A'(6.2)

(2) noand D'(2.4) (4) yes and B'(~3.4)





